Met-Con Construction, Inc.

15760 Acorn Trail Faribault, MN 55021 Ph : (507)332-2266

Change Request

To: Wold Architects & Engineers

332 Minnesota Street

Suite W2000

St. Paul, MN 55101

Ph: (651)227-7773 Fax: (651)223-5646

Date: 7/10/25

Job: 44260 New Prague Police Stn/Addition

Phone:

Description: RFC#002 - Contanimated Soils

We are pleased to offer the following specifications and pricing to make the following changes:

Costs associated with removal of 491.68 TN of contanimated soils.

Description	Labor	Material	Equipment	Subcontract	Other	Price
EarthworkContaminated Soils				\$43,303.99		\$43,303.99
Earthwork Additional Rock				\$5,782.22		\$5,782.22
Earthwork Pole Bldg Tank Demo				\$1,129.70		\$1,129.70
					Subtotal:	\$50,215.91
		Self Perforn	ned OH&P			\$0.00
		Subcont	ract OH&P	\$50,215.91	5.00%	\$2,510.80
			Bonds	\$50,215.91	2.00%	\$1,004.32
					Total:	\$53,731.03

The schedule is not affected by this change.

If you have any questions, please contact me at 507-332-2266.



July 9, 2025

ATTN: Jim Roush

MetCon Construction

Project: New Prague Police Station

Re: Contaminated Soils

Jim,

Here is a cost breakdown for excavating, disposing of the contaminated soil and replacing with rock and sand per AET recommendation:

7/2/25			
360 Excavator	4 HRS	\$278.00	\$1,112.00
Trucking	9 HRS	\$163.00	\$1,467.00
Superintendent	4 HRS	\$155.00	\$620.00
Disposal	69.41 TN	\$18.00	\$1,249.38
= (0.10.7			
7/3/25			
360 Excavator	7 HRS	\$278.00	\$1,946.00
Dozer	2 HRS	\$232.00	\$464.00
Trucking	28 HRS	\$163.00	\$4,564.00
Packer	2 HRS	\$185.00	\$370.00
Skid Steer	2 HRS	\$175.00	\$350.00
Superintendent	6 HRS	\$155.00	\$930.00
Disposal	275.76 TN	\$18.00	\$4,963.68
Sand	126.1 TN	\$4.75	\$598.98
5 /5 /0 f			
7/7/25			
360 Excavator	10 HRS	\$278.00	\$2,780.00
Skid Steer	1 HR	\$175.00	\$175.00
Dozer	8 HRS	\$232.00	\$1,856.00
Trucking	17 HRS	\$163.00	\$2,771.00
Sweeping	2 HRS	\$225.00	\$450.00
Superintendent	10 HRS	\$155.00	\$1,550.00
Sand	206 TN	\$4.75	\$978.50
3" Clear rock	32.9 TN	\$27.75	\$912.98

		Total	\$43,303.99
		10% O&P	\$3,936.73
		Subtotal	\$39,367.26
Sand	72.75 TN	\$4.75	<u>\$345.56</u>
Disposal	146.51 TN	\$18.00	\$2,637.18
Supervisor	6 HRS	\$155.00	\$930.00
Packer	2 HRS	\$185.00	\$370.00
Skid Steer	4 HRS	\$175.00	\$700.00
Trucking	16 HRS	\$163.00	\$2,608.00
360 Excavator	6 HRS	\$278.00	\$1,668.00
7/8/25			

Sincerely,
SiteWork Services, Inc.

Dan Rud

Dan Rud



July 9, 2025

ATTN: Jim Roush

MetCon Construction

Project: New Prague Police Station Re: Rock for the footing line

Jim,

Here is a cost breakdown for the added rock to the footing line as requested by AET:

7/1/25			
360 Excavator	4 HRS	\$278.00	\$1,112.00
Trucking	5 HRS	\$163.00	\$815.00
Skid Steer	2 HRS	\$175.00	\$350.00
Superintendent	2 HRS	\$155.00	\$310.00
1 3/4" Rock	34.51 TN	\$28.16	\$971.80
7/8/25			
360 Excavator	2 HRS	\$278.00	\$556.00
Trucking	2 HRS	\$163.00	\$326.00
Skid Steer	1 HRS	\$175.00	\$175.00
Superintendent	1 HRS	\$155.00	\$155.00
1 3/4" Rock	17.25 TN	\$28.16	<u>\$485.76</u>
		Subtotal	\$5,256.56
		10% O&P	\$525.66
		Total	\$5,782.22

Sincerely,

Dan Rud

Site Work Services, Inc.

Dan Rud



July 9, 2025

ATTN: Jim Roush

MetCon Construction

Project: New Prague Police Station Re: Underground tank removal

Jim,

Here is a cost breakdown for the demolition, removal and disposal for the buried tank:

6/17/25

Superintendent	1 HRS	\$155.00	\$155.00
138 Excavator	2 HRS	\$238.00	\$476.00
Trucking	2HRS	\$163.00	\$326.00
Disposal	14 CY	\$5.00	<u>\$70.00</u>
		Subtotal	\$1,027.00
		10% O&P	<u>\$102.70</u>
		Total	\$1,129.70

Sincerely,

Dan Rud

Site Work Services, Inc.

Dan Rud

Jim Roush

From: Dan Rud <danr@siteworkservices.net>
Sent: Thursday, July 10, 2025 2:17 PM

To: Jim Roush

Subject: Fwd: NP Police Contaminated soil

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Thanks,

Dan Rud
Project Manager

SITEWORK
SERVICES
612-816-2371 (Cell)

----- Forwarded message -----

From: **Ben Wetzell** < benwetzell@dem-con.com >

Date: Wed, Jul 9, 2025 at 4:03 PM

Subject: Re: NP Police Contaminated soil To: Dan Rud < danr@siteworkservices.net>

491.68 tons total.

•	TICKET *	CUSTOMER	VEHICLE 💌	REFEREN	MATERIA[🔻	DATEIN 💌	TIM 🕶	WEIGHT _
2	1073666	Contractor - Cash - Jobs		STWRK NPP	CSOIL-TON	7/2/2025	13:18	14.68
2	1073673	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/2/2025	13:23	15.94
2	1073781	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/2/2025	15:05	18.70
2	1073786	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/2/2025	15:07	20.09
2	1073893	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/3/2025	07:31	17.77
2	1073896	Contractor - Cash - Jobs	TRI 74	STWRK NPP	CSOIL-TON	7/3/2025	07:34	17.67
2	1073905	Contractor - Cash - Jobs	GEYER9	STWRK NPP	CSOIL-TON	7/3/2025	07:43	20.58
2	1073910	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/3/2025	07:50	19.43
2	1073971	Contractor - Cash - Jobs	TRI 74	STWRK NPP	CSOIL-TON	7/3/2025	08:41	21.34
2	1073973	Contractor - Cash - Jobs	GEYER9	STWRK NPP	CSOIL-TON	7/3/2025	08:44	19.92
2	1073994	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/3/2025	08:56	22.67
2	1074043	Contractor - Cash - Jobs	TRI 74	STWRK NPP	CSOIL-TON	7/3/2025	09:39	20.57
2	1074048	Contractor - Cash - Jobs	GEYER9	STWRK NPP	CSOIL-TON	7/3/2025	09:46	22.25
2	1074069	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/3/2025	10:05	17.71
2	1074104	Contractor - Cash - Jobs	TRI 74	STWRK NPP	CSOIL-TON	7/3/2025	10:39	22.10
2	1074112	Contractor - Cash - Jobs	GEYER9	STWRK NPP	CSOIL-TON	7/3/2025	10:45	18.17
2	1074193	Contractor - Cash - Jobs	TRI 74	STWRK NPP	CSOIL-TON	7/3/2025	11:49	18.27
2	1074203	Contractor - Cash - Jobs	GEYER9	STWRK NPP	CSOIL-TON	7/3/2025	11:59	17.31
2	1075494	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/8/2025	12:16	18.09
2	1075522	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/8/2025	12:37	18.11
2	1075564	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/8/2025	13:16	19.43
2	1075602	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/8/2025	13:48	19.25
2	1075652	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/8/2025	14:29	17.38
2	1075703	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/8/2025	15:17	21.34
2	1075721	Contractor - Cash - Jobs	SIT202	STWRK NPP	CSOIL-TON	7/8/2025	15:30	14.64
2	1075753	Contractor - Cash - Jobs	SIT209	STWRK NPP	CSOIL-TON	7/8/2025	16:08	18.27



Ben Wetzell **Vice President of Sales**

From: Dan Rud < danr@siteworkservices.net > Sent: Wednesday, July 9, 2025 3:56 PM **To:** Ben Wetzell < benwetzell@dem-con.com > **Subject:** NP Police Contaminated soil

Good afternoon Ben,

We aer done with the hauling of the contaminated soil. Can you give me the total tonnage that you have on record. Just want to make sure I'm not missing any tickets.

Thanks,

Dan Rud
Project Manager

SITEWORK
SERVICES
612-816-2371 (Cell)